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QUESTION 1

How much dispersion will a pulse accumulate in 20 km if it has a dispersion figure of 17 ps/nm/km? 

A. 34 ps/nm 

B. 68 ps/nm 

C. 340 ps/nm 

D. 680 ps/nm 

E. 3400 ps/nm 

Correct Answer: C 

 

QUESTION 2

What is the maximum PMD value of a 100km fiber segment if the cable is specified with 0.5ps/km ? (worst case)? 

A. 0.005ps 

B. .05ps 

C. 5ps 

D. 50ps 

E. 500ps 

Correct Answer: C 

 

QUESTION 3

In Frame Relay, the FECN bit is set by: 

A. The Frame Relay network, to inform the DTE receiving the frame that congestion was experienced in the path from
source to destination 

B. The Frame Relay network, in frames traveling in the opposite direction from those frames that encountered
congestion 

C. The receiving DTE, to inform the Frame Relay network that it is overloaded and that the switch should throttle back 

D. The sending DTE, to inform the Frame Relay network that it is overloaded and that the switch should throttle back 

E. Any device that uses an extended DLCI address 

Correct Answer: A 
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QUESTION 4

What is the difference in power at the input and the output of the device under test? 

A. Cross Talk 

B. Return Loss 

C. Insertion Loss 

D. Passband 

E. None of the above 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button to view the graph. 

The graph represents optical signal power versus wavelength measurement from 1550nm to 1560nm. The laser type
that provides very narrow spectral widths, (

350-020 VCE Dumps | 350-020 Exam Questions | 350-020 Braindumps                                3 / 4

https://www.pass4lead.com/350-020.html
https://www.pass4lead.com/350-020.html
https://www.pass4lead.com/350-020.html


https://www.pass4lead.com/350-020.html
2022 Latest pass4lead 350-020 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4lead.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4lead, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

350-020 VCE Dumps | 350-020 Exam Questions | 350-020 Braindumps                                4 / 4

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4lead.com/350-020.html
https://www.pass4lead.com/350-020.html
https://www.pass4lead.com/350-020.html

